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Transformation One A

& Flx)=(x-2+3(x-2)+2
B Fx) =00 +3-x)+2

o) Fx)=@x)° +32x)+2

&) f(x)=}£(x" +3X+2)

€ Fix)=x"+3x+2
=" +3x+2)-2

Transfonmation One B

& Fix)={(x+2 +3x+2)+2
By rw=(Yx) +3(4x)+2

&) Flx)=x"+3x+2

& F=(x*+3x+2)+2

&) f(x)=—{x"+3x+2)
H Fix=2(x*+3x+2)

Transformation Two A

& fixy=x+x*+x+Dh+2

B FO=x+2P +{(x+2* +(x+D +1
c) f(x)=2(x’+x"+x+1)

& F=-x*+x+x+D

&) fix)=x"+x"+x+1

D=2+ +2x) +1

Transfornmation Two B
& fixy=x"+x"+x+1

B f(x)=(}£x)3+%x)?+%x)+l
ey fi= B +x +x+])
A Fx=x"+x+x+h-2

Transformation Three &
@ fx=+x-3+2

B fix=x-3-3
¢y Fixy=~x-3

& fix=J-x0-3

Transforration Three B

a) f(x)=3\fx—3
B) fix)=-+x-3

c) fixy= ,n'(x +3)-3
a fix)=4f(3x-3

B fixy=2logx
) fixy=logx-2
& Fix)=logix +2)

B fixy=logx+2
¢) fix)y=1log(x-2)
@ fix)= Y logx

€ fx)=(x=-20 +{x-2)" +{(x-2) +1 €) f(x}=}§“_3 & Fix)=vx-3-2
N FR= 0 +E0 e+ n r={(}x)-3 ffn=Jx-3
Transformation Four & Transformation Four B Transforrnation Five &
@ f(x)=log{-2x) @ f{x)=-2logx @ FiX)=sin{x+2)

B) f(x)= }sinx
¢) f{x)y=sinx-2
&) f(x)=sin@x)

By f(x)=sin(x-2)
¢) f{x)=sinx+2
& fix)=2sinx
€) f(x)=sin%x)
) fix)=—sinx

€) f{x)=logx & £(x)=loax) # Fl=smx
1) 7= 1og(}) x) 7 Fx)=logx £ F=sinen
Transforration Five B

@& f(x)=sinx
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